
� � � �
� � �

�����������

December 28, 2004

�����������������

1



� �

1 ������ 1

2



1 ������

�����������������������������

�� 1.1 (������) �� α����N ��������������� n (1 ≤
n ≤ N) ��� m �� ∣∣∣α − m

n

∣∣∣ <
1

nN
.

�������� N ���

0 ≤ nα − [nα] < 1, n = 1, 2, 3, · · · , N.

	�� N ����

[0, 1/N), [1/N, 2/N), [2/N, 3/N), · · · , [(N − 1)/N, 1)

N ���
�����������

(1) ������	����
�������� n(1 ≤ n ≤ N) ��

0 ≤ nα − [nα] <
1
N

⇒
∣∣∣∣α − [nα]

n

∣∣∣∣ <
1

nN
.

(2) �����	���������� 1 ≤ n1 < n2 ≤ N ��{
i
N ≤ n1α − [n1α] < i+1

N
i
N ≤ n2α − [n2α] < i+1

N

⇒ 0 ≤| (n2 − n1)α − ([n2α] − [n1α]) |< 1
N

⇒
∣∣∣α − [n2α]−[n1α]

n2−n1

∣∣∣ < 1
(n2−n1)N

.

��� �

�� 1.2 ��� α ������������������� m/n ��
 n ��

���m ������ ∣∣∣α − m

n

∣∣∣ <
1
n2

.

�������� d ���������	�
�� d ������

mi

ni
, i = 1, 2, 3, · · · , d.


� α �������� α − mi/ni �= 0�
��������

1
N

<

∣∣∣∣α − mi

ni

∣∣∣∣ , i = 1, 2, 3, · · · , d

���� N����������������� n (n ≤ N) ��� m ��∣∣∣α − m

n

∣∣∣ <
1

nN
≤ 1

n2
.
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� ∣∣∣α − m

n

∣∣∣ <
1

nN
≤ 1

N
,

���� m/n ������� d ������
��∣∣∣α − m

n

∣∣∣ <
1
n2

���
����������� m/n ��
 n �����m ������∣∣∣α − m

n

∣∣∣ <
1
n2

.

�

�� 1.3 ���� s ��
�������������������� (x, y) ��

| x2 − sy2 |< 1 + 2
√

s.

����	����������������� x/y ��

∣∣∣∣√s − x

y

∣∣∣∣ <
1
y2

⇒

⎧⎪⎨
⎪⎩
| y

√
s − x |< 1

y

| y
√

s + x |≤| −y
√

s + x | +2y
√

s <
1
y

+ 2y
√

s

⇒| x2 − sy2 |< 1
y

(
1
y

+ 2y
√

s

)
=

1
y2

+ 2
√

s ≤ 1 + 2
√

s.


�������������� (x, y) ��

| x2 − sy2 |< 1 + 2
√

s.

�
� s = 3 �������������������� (x, y) ��

∣∣x2 − 3y2
∣∣ ≤ 4.

�������� x2 − 3y2 = ±1,±2,±3,±4 
���������������

�������� ?? �
���Æ��� s = 2 ������ ?? �
�����

��������

�����

����
1 = 1,

2 · 1 − 1
2

= 1 +
1
2
,

3 · 1 − 3 · 1
2

+
1
3

= 1 +
1
2

+
1
3
,

4 · 1 − 6 · 1
2

+ 4 · 1
3
− 1

4
= 1 +

1
2

+
1
3

+
1
4
,
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���

� p, q ���� x3 − px + q = 0 �����

(1) �� p ≥ 0�

(2) � α � x3 − px + q = 0 �������

| α |≤ 2
√

p

3
.

������

������ n ���� Fn ������

Fn = 22n
+ 1.

�������������������������	�����������

��������
�
�����������������������	��

� P �������������� P �������
�	���������

�

F0 = 3, F1 = 5, F2 = 17, F3 = 257, F4 = 65537

�������������� 7, 11, 13 ������������
������

�����
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